
;"rgf k|sfzg ePsf] ldlt @)&%.!!.# ut] 

;"rgf 

 o; ljefusf] rfn' cf=j= @)&%÷)&^ sf] :jLs[t jflif{s sfo{qmd cGt/ut pkef]Qmf ;+:yfx?sf] ;fem]bf/Ldf pkef]Qmf hfu/0f 

;DjlGw sfo{qmd ;~rfng ug{sf nlfu ljleGg pkef]Qmf ;+:yfx?sf] ;xeflutfdf ;ft} k|b]zsf ljleGg :yfgdf sfo{qmd ;~rfng 

ug'{ kg]{ ePsf]n] o; ljefudf ;'lrs[t ;DjlGwt ;/f]sf/jfnf pkef]Qmf ;+:yfx?nfO{ of] ;"rgf k|sfzg ePsf] ldltn] & -;ft_ 

lbg leqdf ;+:yf btf{ k|df0f kq / rfn' cf=j= ;Ddsf nflu gljs/0f÷cBfjlws ePsf] k|df0f ;lxt sfo{qmd k|:tfj k]z ug'{x'g 

;"lrt ul/G5.  

 

! sfo{qmd ;~rfng x'g] lhNnfx? 

qm=;+=  k|b]z g++=   lhNnfx? 

!   !   df]/Ë lhNnf jfx]ssf lhNnfx? 

@   @   k;f{ lhNnf jfx]ssf lhNnfx? 

#   #   sf7df08f} pkTosf / dsjfgk'/ jfx]ssf lhNnfx? 

$   u08sL   sf:sL lhNnf jfx]ssf lhNnfx? 

%   %   ?kGb]xL lhNnf jfx]ssf lhNnfx? 

^   s0ff{nL   ;'v]{t lhNnf jfx]ssf lhNnfx? 

&   ;'b'/ klZrd  s}nfnL lhNnf jfx]ssf lhNnfx? 

@ sfo{qmd ;~rfngsf] 9f+rf 

 

@=! Ps pkef]Qmf ;+:yfn] clwstd # j6f :yfgddf sfo{qmd ;~rfng ug]{u/L k|:tfj k]z ug{ ;Sg]5 . 

@=@ ufp+kflnsf leq clwstd !, gu/kflnsf leq clwstd @, pkdxfgu/kflnsf leq clwstd # / dxfgu/kflnsf leq clwstd 

$ j6f ;Dd sfo{qmd ;~rfng ug{ ;lsg]5 . 

@=# k|To]s sfo{qmdsf] cf}ift nfut ?= ^) xhf/ x'g]5 . ;f] nfutdf ef}uf]lns :yfg / sf7df08f} ;Ddsf] b'/Lsf cfwf/df yk 36 

x'g ;Sg]5 . 

@=$ pkef]Qmf ;+:yfn] sfo{qmd :yfgsf] 5gf}6, ;xeflu h'6fpg], sfo{qmd ;~rfng ug'{kg]{ nufotsf Joj:yfksLo sfo{x? ug'{kg]{5 

. 

@=% ljefun] sfo{qmd:yn ;Dd hfg cfpg ;jf/L;fwg pknJw u/fpg] tyf pkef]QmfjfbL ;+3 ;+:yfsf] ! hgf k|ltlglwnfO{ b}lgs 

tyf e|d0f eQf pknJw u/fpg]5 . pkef]QmfjfbL ;+w;+:yfsf] s]lGb|o ;ldltsf] kbflwsf/LnfO{ g]kfn ;/sf/sf] zfvf clws[t 

;/x / :yfgLo :t/sf k|ltlglwx?nfO{ g]kfn ;/sf/sf ;xfos:t/sf sd{rf/Ln] kfpg] b/ cg';f/sf] b}lgs tyf e|d0f eQf k|fKt 

ug{ ;Sg]5g\ .  

@=^ sfo{qmdsf] Joj:yfkg ;+of]hg ug]{ ;+:yfn] sfo{qmd ;~rfng ug]{ lhNnf, :yfgLo tx tyf j8f ;d]t v'nfO{ k|:tfj k]z ug'{ 

kg]{5 . 

# nlIft ;d'x÷ju{ – o; sfo{qmdsf] nlIft ju{df Joj;foL, pkef]QmfsdL{, pkef]Qmf ;+/If0f ;+u ;DjlGwt ;+3;+:yfx?, lgsfox? 

tyf cfd pkef]Qmfx?x? /x]sf 5g\ . 

$= ck]lIft pknJwL – sfo{qmdsf] ;DkGgtf kZrft pkef]Qmf ;+u ;DjlGwt ;j} If]qdf sfo{ ug]{ ;+:yf, lgsfo / cfd pkef]Qmx?n] 

j:t' jf ;]jfsf] vl/b ug'{ k"j{ ckgfpg] ;r]tgf tyf pkef]Qmf clwsf/sf ;DjGwdf hfgsf/L k|fKt ug]{5g\ ;fy} Joj;foLs 

kmd{x?n] Joj;foLs st{Josf ;DjGwdf hfgsf/L k|fKt ug]{5g\ .  



 

 


